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Section – A

Answer any four from the following.	 (2×4=8)

1.	 What is Tax ?

	 ñæÄWæ Gí¨ÜÃæà®Üá ?

2.	 Define Assessee.

	 AÓæÕÔÕ GíŸ ±Ü¨ÜÊÜ®Üá°  ÊÝÂTÝÂ¯Ô.

3.	 State two types of tax.

	 GÃÜvÜá Äà£¿á ñæÄWæ¿á Ë«ÜÊÜ®Üá°  £ÚÔ.

4.	 What is agricultural income ?

	 PÜêÑ B¨Ý¿á Gí¨ÜÃæà®Üá ?

5.	 Write a note on pan.

	 ±Ý®…®Ü ŸWæY  q±Ü³~ ŸÃæÀáÄ.

6.	 Write a note on deduction u/s 80D.

	 80D ±ÜÄaæfà¨Ü¨Ü Aw¿áÈÉ  PÜwñÜ¨Ü ŸWæY  q±Ü³~ ŸÃæÀáÄ.

P.T.O.
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Section – B

Answer any four from the following.	 (4×4=16)

7.	 What are the salient features of Indian Tax System ?

	 »ÝÃÜñÜ¨Ü ñæÄWæ ÊÜÂÊÜÓæ§¿á ±ÜÅÊÜááS ÆPÜÒ|WÜÙÜá ¿ÞÊÜâÊÜâ ?

8.	 State any four examples of agricultural income.

	 PÜêÑ B¨Ý¿á¨Ü ¿ÞÊÜâ¨Ý¨ÜÃÜã ®ÝÆáR  E¨ÝÖÜÃÜOæWÜÙÜ®Üá° £ÚÔ.

9.	 State the income tax slab under existing regime.

	 AÔ¤ñÜÌ¨ÜÈÉÃÜáÊÜ  BvÜÚñÜ¨Ü Aw¿áÈÉ  B¨Ý¿á ñæÄWæ ÓÝÉ¸…A®Üá°  £ÚÔ.

10.	 State the different heads of income.

	 B¨Ý¿á¨Ü ËË«Ü ÎàÑìPæWÜÙÜ®Üá°  £ÚÔ.

11.	 From the following particulars furnished by an assessee, compute deduction 
u/s 80C.

	 i)	PP F deposits Rs. 80,000

	 ii)	 LIC premium of own life Rs. 12,600

	 iii)	 5 years post office time deposit Rs. 12,000

	 iv)	I nterest accrued on NSC Rs. 7,800

	 v)	 Ulip Rs. 6,000

	 vi)	 Tuition fees paid Rs. 2,000.

	 AÓæÕÔÕ J¨ÜXÔ¨Ü PæÙÜX®Ü ËÊÜÃÜWÜÚí¨Ü, 80C ±ÜÄaæfà¨Ü¨Ü PÜwñÜÊÜ®Üá°  PÜívÜá×wÀáÄ.

	 i)	 ²²G´… sæàÊÜ~ ÃÜã. 80,000

	 ii)	 ÓÜÌiàÊÜ ËÊÜÞ ±ÝÈÔ ²ÅàËá¿áí ÃÜã. 12,600

	 iii)	 I¨Üá ÊÜÐÜìWÜÙÜ Aíaæ PÜaæàÄ¿á ÓÜÊÜá¿á¨Ü sæàÊÜ~ ÃÜã. 12,000

	 iv)	 G®…GÓ…Ô  Ÿwx ÃÜã. 7,800

	 v)	 ¿ááÈ±… ÃÜã. 6,000

	 vi)	 ¸æãà«Ü®Ý ÍÜáÆR ÃÜã. 2,000.
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12.	C ompute tax liability of Mr. Bhagat (aged 42) under existing tax regime having 
total income of Rs. 7,00,000 for the assessment year 2021-22.

	 ËáÓÜrÃ… »ÜWÜñ… (42 ÊÜ¿áÓÜáÕ ) ®Ü Joár  B¨Ý¿á ÃÜã. 7,00,000 BXÃÜáñÜ¤¨æ. AÔ¤ñÜÌ¨ÜÈÉÃÜáÊÜ BvÜÚñÜ¨Ü 

Aw¿áÈÉ ÊÜåèÆÂÊÜÞ±Ü®Ü ÊÜÐÜì 2021-22ÃÜ AÊÜ®Ü ñæÄWæ¿á ÖæãOæWÝÄPæ¿á®Üá°  PÜívÜá×wÀáÄ.

Section – C

Answer any two from the following.	 (8×2=16)

13.	 State the conditions of residential status.

	 ÊÝÓÜ¤ÊÜÂ¨Ü Ô§£WÜ£Wæ CÃÜáÊÜ ÐÜÃÜñÜá¤WÜÙÜ®Üá° £ÚÔ.

14.	 State the various provisions relating to deduction u/s 80C.

	 80C ±ÜÄaæfà¨Ü¨Ü Aw¿áÈÉ  PÜwñÜPæR ÓÜíŸí—Ô¨Ü ËË«Ü ¯Ÿí«Ü®æWÜÙÜ®Üá°  £ÚÔ.

15.	 From the following information, compute the taxable income and tax liability of 
Ms. Rituparna for the assessment year 2021-22.

	 i)	I ncome from salary Rs. 4,58,000.
	 ii)	I ncome from house property Rs. 40,000.
	 iii)	I ncome from business or profession Rs. 2,00,000.
	 iv)	I ncome from capital gain : Short term capital gain Rs. 20,000 and long term 

capital gain Rs. 80,000.
	 v)	I ncome from other sources Rs. 44,000.
	 vi)	 Deduction u/s 80C Rs. 26,000.
	 vii)	 Deduction u/s 80D Rs. 6,000.

	 PæÙÜWæ PæãqrÃÜáÊÜ  ËÊÜÃÜWÜÚí¨Ü ÊÜåèÆÂÊÜÞ±Ü®Ü¨Ü ÊÜÐÜì 2021-22PæR  ËáÓ… ÄñÜá±Ü|ìÃÜ ñæÄWæ¿á 

B¨Ý¿á ÊÜáñÜá¤ ñæÄWæ¿á ÖæãOæWÝÄPæ¿á®Üá°  ÇæPÜR ÖÝQ.

	 i)	 ÊæàñÜ®Ü¨Ü B¨Ý¿á ÃÜã. 4,58,000.

	 ii)	 ÊÜá®æ ¸ÝwWæ B¨Ý¿á ÃÜã. 40,000.

	 iii)	 ÊÜÂÊÜÖÝÃÜ A¥ÜÊÝ ÊÜê£¤ B¨Ý¿á ÃÜã. 2,00,000.

	 iv)	 ŸívÜÊÝÙÜ WÜÚPæ : AÇÝ³ÊÜ— ŸívÜÊÝÙÜ¨Ü WÜÚPæ ÃÜã. 20,000 ÊÜáñÜá¤ ©à[ÝìÊÜ— ŸívÜÊÝÙÜ¨Ü 

WÜÚPæ ÃÜã. 80,000.

	 v)	 CñÜÃÜ ÊÜáãÆWÜÚí¨Ü B¨Ý¿á ÃÜã. 44,000.

	 vi)	 80C ±ÜÄaæfà¨Ü¨Ü PÜwñÜ ÃÜã. 26,000.

	 vii)	 80D ±ÜÄaæfà¨Ü¨Ü PÜwñÜ ÃÜã. 6,000.
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16.	 From the following data given below, compute the gross total income of  
Mr. Harish.

	 i)	I ncome from salary Rs. 2,00,000.

	 ii)	I ncome from business Rs. 50,000.

	 iii)	I ncome from lotteries Rs. 3,500.

	 iv)	I nterest on bank deposits Rs. 8,000.

	 v)	 Interest on fixed deposits Rs. 8,000.

	 vi)	I ncome from house property Rs. 1,75,000.

	 vii)	I ncome from capital gain Rs. 75,000.

	 PæÙÜWæ PæãqrÃÜáÊÜ  ËÊÜÃÜWÜÚí¨Ü Ëá. ÖÜÄàÍÜ®Ü Joár B¨Ý¿áÊÜ®Üá°  PÜívÜá×wÀáÄ.

	 i)	 ÊæàñÜ®Ü¨Ü B¨Ý¿á ÃÜã. 2,00,000.

	 ii)	 ÊÜÂÊÜÖÝÃÜ¨Ü B¨Ý¿á ÃÜã. 50,000.

	 iii)	 ÇÝoÄ B¨Ý¿á ÃÜã. 3,500.

	 iv)	 ¸ÝÂíP… sæàÊÜ~¿á ÊæáàÈ®Ü Ÿwx ÃÜã.  8,000.

	 v)	 ¯WÜ©ñÜ sæàÊÜ~¿á ÊæáàÈ®Ü Ÿwx ÃÜã. 8,000.

	 vi)	 ÊÜá®æ ¸ÝwWæ B¨Ý¿á ÃÜã. 1,75,000.

	 vii)	 ŸívÜÊÝÙÜ WÜÚPæ ÃÜã. 75,000.

________________


